The Specialist In Drum Handling Equipment

/

Contents
Page
Safety Information. . . . ... ... ........... 1
Installation Instructions. . . ................. 1-2
Parts Lists and Diagrams. . . . .............. 2-3

IMPORTANT

Before installing MORStop™, please read the following:

1.

2.
3

Remove drum and be sure it is safe to work on the

gearing before proceeding.

Remove gear covers, if applicable.

Using needle nose pliers carefully remove the spring clip

(item 11), side link (item 10) and master link (item 8) on

the #35 pitch roller chain (item 9).

Remove the drive sprocket (item 3 or 5) from the gear

block in one of the following ways:

a. If sprocket is welded to the shaft (item 3): using a 3/16
punch and hammer, carefully press out the roll pin (not
shown) and slide the drive sprocket with shaft and
spacer (item 4) out of the gear block. You will no longer
use these parts.

b. If sprocket is setscrewed onto the shaft (item 5): loosen
sprocket setscrews, remove sprocket from shaft,
remove the woodruff key (item 6), finally, prior to sliding
crank device from gear block, file shaft around keyway
to prevent bearing damage.

On some Morse drum handlers, i.e. Morse model 285A,

the weld between the gear block and 2 x 3 vertical leg

tube may interfere with the MORStop™ (see Figure 1 on
page 2). This weld will need to be ground enough to clear
the MORStop™.

Before MORStop™ installation, ensure that the outer

surface of the bronze bearing is clean and free from paint.

Lightly sand if necessary.

Installation Instructions for Morse Kit # 3901-P
MORStop Tilt-Brake™ Kit

1.

Insert the keyway end of the shaft on the MORStop™
assembly (item 13) into the bearing where the crank
device was removed in step 4 above. Turn the MORStop
assembly while pushing into the bearing until the torque
arm (the tab with the hole) rests against the gear block.
Note: The MORStop™ assembly must be bolted in place
to work properly.
If your Morse drum handler was manufactured before
08/1995 (s/n 0895) and does not have the bolthole noted
in the diagram, the gear block must be drilled, and you
should proceed to step 1 a. Otherwise proceed to step 2.
a. Turn the torque arm until the bolthole is centered on
gear block. Mark gear block where the hole is to be
drilled.

Operator’s Manual for
MORStop Tilt-Brake™

Serial Number 0317 to (MMYY)

b. With the MORStop™ assembly removed, drill a 3/16
pilot hole through the gear block.
c. With a 7/16” drill, drill out to finished hole size.

2. Re-insert the MORStop™ into the bearing and, using 3/8
x 2-1/4 bolt (item 14), 3/8 washer (item 2) and a lock nut
(item 1), bolt torque arm to gear block and finger tighten
the nut.

3. Place 3/4” washer (item 7) onto keyway end of shaft.

4. Insert the size 9 woodruff key (item 6) into keyway on the
shaft.

5. Install drive sprocket (item 5), hub side first, over woodruff
key.

6. While pressing the drive sprocket and the MORStop™
assembly against the gear block, tighten setscrews on
drive sprocket.

7. If installing a chain wheel (item 16), slide chain wheel
chain guide (item 15) over MORStop™ shaft onto step.
(This step not needed if installing hand crank or hand
wheel.)

8. Slip chain wheel (item 16), hand crank (item 17), or hand
wheel (item 18) onto MORStop™ shaft and line up 3/16”
holes for roll pin (item 12). Carefully hammer in roll pin
through both parts.

9. Tighten torque arm nut & bolt from step 2. Loosen the lock
nut % turn to prevent possible binding in the MORStop™.
There will be a slight drag in the MORStop™ while turning
the crank device, but no binding should be present.

10. Reinstall the roller chain over the drive sprocket using
master link, side link and retaining clip. The master link
must be installed with the spring clip on side opposite the
spur gear.

11. Replace gear covers, if applicable.

After completing the installation of the MORStop™, the chain wheel,
hand crank, or hand wheel should turn freely in either direction,
and will prevent the load from back driving the crank device.

MORSE MFG. CO., INC. . 727 West Manlius Street
Phone: 315-437-8475 . Fax: 315-437-1029 . Email: service@morsedrum.com . Webpage: morsedrum.com

Copyright 2017 - Morse Mfg. Co., Inc.

. P.O. Box 518 . East Syracuse, NY 13057-0518

Form PL3900 (0317-___ ) (Updated March 7, 2017 5:09 PM) 1



® s/‘/

B —\\ : \ l . /
I¥2= | MORStop

The Specialist In Drum Handling Equipment Q

Operator’s Manual for Morse part number 3901-P MORStop Tilt-Brake™
Serial Number 0317 to (MMYY)

DRILL HOLE ON UNITS
OLDER THAN 08/1935

1

— Items Included in MORStop Tilt-Brake Kit
% ITEM # QTY PART # DESCRIPTION
SADDLE 1 1 1169-P 3/8 - 16 REV HEX LOC NUT
ASSEMBLY
2 1 1166-P WASHER, 3/8 USS 1” OD
5 1 11-P SPROCKET, #35 12T, 3/4” BORE
2X3 VERTIC
LEG TUBE 6 1 735-P KEY, WOODRUFF, SIZE 9, ASA606
7 1 55-P WASHER, 3/4 SAE FL 1-1/2 OD
12 1 64-P ROLL PIN, 3/16 X 1-1/4
13 1 3901-P MORStop TILT-BRAKE
Figure 1 14 1 82-P 3/8-16 X 2-1/4 HHCS GR 2

On some Morse drum handlers, i.e. Morse Other Items Shown in Diagram

Model 285A, the weld between the gear block

and 2 x 3 vertical leg tube may interfere with the ITEM # QTY PART # DESCRIPTION

MORStop™ (Figure 1). Grind weld enough to 15 1 1304-P  GUIDE, POCKET CHAIN WHEEL

clear the MORStop™.
16 1 1303-P  POCKET CHAIN WHEEL, 3/4 BORE
17 1 5U-P HAND CRANK, W/ SOCKET TUBE
18 1 2685-P  HANDWHEEL 16” 3/4B w/ KNOB

morsedrum.com
Copyright 2017 - Morse Mfg. Co., Inc. Form PL3900 (0317- ) (Updated March 7, 2017 5:09 PM) 2



/

MORSEi¥2:  moRstop 4

The Specialist In Drum Handling Equipment

Operator’s Manual for Morse part number 3901-P MORStop Tilt-Brake™
Serial Number 0317 to (MMYY)

ITEM NO. PART NUMBER DESCRIPTION QTY.
1 3870-P CASING ASM, SPRING, MORSteop 1
2 3628-P SPRING, TORSION, MORStop BRAKE 1
3 6120W-P OUTPUT SHAFT WELD, MORStop 1
4 3623B-P PRI SHAFT W/ BUSHING, MORStop 1
5 3831-F SNAP RING, 1-7/8", MORStop 1

LIMITED WARRANTY

MORSE DRUM HANDLING EQUIPMENT is guaranteed against defects in workmanship or materi-
als, when used properly within its rated capacity, for two years. Motors and other purchased parts
carry the warranty of their manufacturers.

For Warranty claims, call or write for authorization to return the product prepaid, stating defect.
(No return will be accepted without proper authorization.) In all instances, liability is limited to the
purchase price paid and liability under the above stated warranty is limited to repairing or replacing
any product which upon our examination is found to be defective.

morsedrum.com
Copyright 2017 - Morse Mfg. Co., Inc. Form PL3900 (0317- ) (Updated March 7, 2017 5:09 PM)



